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ssessment of body weight of
livestock from measurements of
body length and girth is a com-

monly practised and most wanted tech-
nique for Veterinary Practitioners and
students especially under field situa-
tions. Determination of growth rate,
calculation of drug dosage, decisions
on the time for breeding and the
preslaughter assessment of meat avail-
ability are some of the common indica-
tions for weight assessment.

Body weight in Kilograms is calculated
using the formula

Body weight (W) = LG?/ 660 (Kgs)
Where L is the length in inches

from point of shoulder to point of but-
tocks (Pin bone).

G - chest girth or diameter just
behind the point of elbows taken in
inches.

Calculation of the body weight
from the formula requires repeated mul-
tiplication followed by division, hence
time consuming or necessitates the use
of a calculator and even with calcula-
tor requires some time. Alternatively if
we can read the weight directly from
a table using length and girth, it will
be very useful for routine use. Prepa-
ration of a table by arranging all pos-
sible figures of length and girth di-
rectly in two axis will make the table
very bulky and confusing, but a table
for routine use should be simple, con-
cise and handy to make it a part of
pocket diary. Such a table prepared for
all possible figures of length and girth,
is given below.

BODY WEIGHT CHART
Girth in inches Length units in inches
1 2 3 4 5 6 7 8 9
21 0.6 1.2 1.8 2.4 3.0 3.6 4 5 5
22 0.7 1.5 2.2 2.9 3.7 4.4 5 6 7
23 0.8 1.6 2.4 3.2 4.0 4.8 6 7 7
24 0.8 1.7 2.6 3.5 4.4 5.2 6 7 8
25 0.9 1.9 2.8 3.8 4.7 5.7 7 8 9
26 1.0 2.0 3.1 4.1 5.1 6.1 7 8 9
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27 | 1.1 2.2 3.3 4.4 55 | 66 | 8 9 10
o8 | 12 | 24 ¢ | 48 | 60 | 71 | 8 |10 T
TTTTTTT 9 | 10 11
S0 | 12 | 27 | 41 — 55 | 68 | 82 |10 | 11 12
TTTT 5.8 73 | 87 |10 | 12 13
32 | 1.6 —1 | a7 | 62 | 78 |93 |11 |12 14
=3 | 17 | 33 | 50 6.6 83 | 99 |12 | 13 15
=7 18 | 35 | 53 | 70 g8 | 105 | 12 | 14 16
=5 19 | 37 | 56 | 74 93 | 111 | 13 | 15 17
36 | 2.0 =9 | 59 | 79 | 98 118 | 14 | 16 18
=7 121 | 41 | 62 | 83 | 104 124 | 15 | 17 19
38 | 22 44 6.6 g8 | 109 |131 |15 | 18 20
TTTTT 115 | 138 |16 | 18 21
20 | 2.4 8 | 73 | 97 | 121 145 | 17 | 19 22
1 | 25 | 51 | 76 102 | 127 | 153 | 18 | 20 23
TTTTW 134 | 160 |19 | 21 24
43 | 2.8 5.6 52 | 112 | 140 |168 |20 | 22 25
22 | 29 | 59 | 88 17 | 147 | 176 |21 |23 26
25 31 | 61 | 92 | 123 153 | 184 |21 | 25 28
26 | 32 6.4 5o [ 128 | 162 | 192 |22 |26 29
7 | 33 | 67 | 100 | 134 | 167 201 | 23 | 27 30
18 | 35 | 7.0 | 104 110 | 175 | 209 |24 |28 31
9 | 36 | 73 | 109 {16 | 182 | 218 |25 | 29 33
50 | 38 76 | 114 | 152 190 | 227 |27 | 30 34
51 | 39 | 79 | 118 158 | 197 | 236 |28 | 32 35
52 | 4.1 8.2 53 | 164 | 205 |246 |29 | 3B 37
53 | a3 | 85 | 48 70 | 213 | 255 |30 | 34 38
o1 | 24 | 88 | 133 177 | 221 | 265 | 31 35 | 40
S5 | 46 | 92 | 137 183 | 229 | 275 |32 |37 41!
o | 48 | 95 | 143 190 | 238 | 285 |33 | 38 43
=7 | 49 | 98 | 148 | 197 516 | 295 | 34 | 39 44
=5 | 51 | 102 | 153 | 204 555 | 306 | 36 | 41 46
59 | 53 | 105 55 | 211 | 264 |316 |37 | £ 47
%0 | 55 | 109 | 164 18 | 273 | 327 | 38 a1 | 49
<1 56 | 113 | 169 | 226 282 | 338 |39 |45 |51}




62 5.8 11.6 17.5 23.3 29.1 34.9 41 47 52
63 6.0 12.0 18.0 24.1 30.1 36.1 42 48 54
64 6.2 12.4 18.6 24.8 31.0 37.2 43 50 56
65 6.4 12.8 19.2 25.6 32.0 38.4 45 51 58
66 6.6 13.2 19.8 26.4 33.0 39.6 46 53 59
67 6.8 13.6 20.4 27.2 34.0 40.8 48 54 61
68 7.0 14.0 21.0 28.0 35.0 42.0 49 56 63
69 7.2 14.4 21.6 28.8 36.1 43.3 50 58 65
70 7.4 14.8 22.3 29.7 37.1 44.5 52 59 67
71 7.6 15.2 22.9 30.6 38.1 45.8 53 61 69
72 7.8 15.7 23.6 31.4 39.3 47.1 55 63 71
73 8.1 16.1 242 323 40.4 48.4 56 64 73
74 8.3 16.6 25.0 33.2 41.5 49.8 58 66 75
75 8.5 17.0 25.6 34.1 42.6 51.1 60 68 77

The table gives girths in the left
margin column and lengths 1 to 9
inches in the uppermost columns. Body
weight corresponding to the length and
girth can be read from the table as
follows

Convert the length into decimal
pattern

eg:-1) Length 35 is written as (3
x 10) + 5. Read the length 3 against
girth measurement from the table and
multiply with 10; then read 5 against
the same girth and add together to get
the weight in Kgs.

eg:-(2) If L=28, G=35
L=2x10+8

From the table, 2 against 35 = 3.7
8 against 35 = 15
W= (3.7x10)+15 37+15=52 Kg
eg:- (3) L= 39 G=48
W= (10.4x10)+31 = 135 Kg

The table is very easy to read if
we understand the way of reading and
provides body weight with the correct-
ness assured by the formula LG?/ 660.

-

A UTOMOTTIVE

) 1993 Model, White Maruthi, single
owner, done only 30,000 kms, in immacu-
late condition {or sale

Apply to

Box No: 201

C/o Editor, JIVA
PRAYAR P.O. 690 547

@® 1978 Model Bullet Motor Cycle,
fitted with new Diesel Engine (1994), re-
cently painted at Coimbatore available for
sale

Apply to

Box No: 202
C/0Editor, JIVA
PRAYAR P.O.- 690 457
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